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A major rule. Whoever is aware of the main concept of naw is
2% one NRYM 129p for each naw that he desecrates etc.

OVERVIEW
The 71wn states that if one 1s aware of the concept of naw and did many
M>ORY% on many 2°n2w he is 21 one NXVA 127p separately for each and every
naw that he transgressed. *"w7 and '01n both agree that when he did the
MoRY1 he was not aware that it was naw. In fact he was not aware that he
violated the naw for the many weeks that he did the n1ax>n, only afterwards
did he realize, that he did m5X%1 on many 2°naw. The question is why he is
2»1 for every naw. The general rule is that if a person commits an 7772y
many times without realizing that he did an 772y, and then he realized that
he did the 77°2y many times, he is only 217 one nXvn 1277. The only time
that he 1s 2>’ many mXwvn is if there is an awareness of Xvr in between the
different times of doing the n7°2y. Here since he did not realize that he was
naw 55nn in between, he should be 2°°17 only one nxwrm.

— D122 Y1) NIV 29 JY 4N DIVNPA YO
»"w+ explains that even though he was not aware' during this entire period
that he was desecrating the *naw, nevertheless -

— PYHNY NPT 1991 DINAY DN 139N

We say that the days in between each naw are considered a sufficient

awareness to separate each naw from the others, to make him liable to bring a j27p
nxun for each Naw individually.

*"w1 explains: How can we say that there is an awareness, we have just stated that he was
not aware during the entire period of 2°naw that he desecrated the naw? >"w1 explains:

- 3maNYHa 991 XYY NYN 197 NAY O IMNY 0133 YNY NHY TYIN INY

! See 0"~ for an explanation why *"w1 interprets the 73w that he was not aware during the entire period
that he transgressed the naw MoX.

* It would seem therefore that he should only bring one nxur for all the 2°naw (as in the first case of the
71wn), since there was no awareness of sin to separate the various o°nawv.

? We are discussing a person who is naw qp°v ¥7v, therefore if on a certain day he was aware that it is
Sunday or Monday, he is automatically aware that a day or two ago it was Naw or we may say that when a
few weeks pass he is certainly aware that a few 0°’naw passed.
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for it is impossible that he was not aware in the duration, that a
particular day was naw, so he certainly knew that a number of different
o°naw passed, however he did not remember then that on those 2°naw he

did nMoRYA. Therefore, the mwn teaches us that even though he was not aware that he
did m>oX%1 on the various 2°naw, nevertheless (when he ultimately realizes that he did
MARY1 on the various 2°naw) he brings a nXvn for each naw, because initially he was (at
least) aware that n2w passed.

mooIn questions s""w1 premise, that the mere knowledge that a n2w passed is a sufficient
awareness to separate the 0°naw, obligating him to bring several mXvr, even though there
was not an actual awareness of doing an MO°X :

— (uny 97105 NN 9NRT “9TYN 290 AU
=1"%X '1 has a difficulty with >"w7°5; for the 8723 (later on) states:

- SHANDM PIH NIY NIV TMINID VY I8P
If a person reaped and ground grain the size of a dried fig, being

unaware that it was naw, he was however aware that these n1>8%%, namely

reaping and grinding are forbidden on naw-
= MANDN NNV NAY PTI HIN99 JNVI 987 )

And he repeated subsequently, and he reaped and he ground grain the
size of a dried fig (on the same naw). This second time however, he was
aware that today is naw, however he was unaware (forgot) that these
MORYA, namely 7100 77°%p are 'nawa Mox. The X3 concludes that the 17 is:

— NNV NI NNV NPNP NI NIINP
The 79°2p that was done first naw naw2 ‘drags’ along with itself the second
79xp, which was done 7198%% nawa, and the first 7nv ‘drags’ along with

itself the second 735, so that the second set of MaX9n, even though had they been
done by themselves (without the prior two MaxX?»), they would be 2»n» him two nxwn,
because it was N1OX1 Naxw, nevertheless they are being ‘dragged’ along by the first set of
MoXY (the 71701 A% of NAW NAW).

— PAN NIN 2990 1N U9

The interpretation of what the X713 says is that he is 3’17 only one nxunm,

* See 7"71n who cites this in the name of (1"287) 1372 TYOR .

> A n or dried fig is the amount required to be 721 on 7MY 77°%p NIXYR as well as other NMIXYY.

% For doing these two nMax alone he would be 27 only one nxur, since there was only one 73w; he was
not aware that it was naw.

7 For doing these two MdoXYn alone he would be 211 two mRun, because there were two N, the A of
77°%p and the AW of 71°1v, since he was aware that it was naw.
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because we consider the second set of MoX%1 as merely a continuation of the first set of
m>oxon, and on the first set he is only 217 one NXVA since it was Naw naw, therefore the
second set of M2X77 is subsumed within the first set and is included in the lone nXvA 127p.
Before m901n concludes his X'wp on *"wA, he first proves that the two sets of Mx%1 took
place on the same Snaw.

— DNV 2N NN MHNAY *HYIT PN HNN Hav)

This previous case is concerning that he did both sets of NoX%» on one and

the same naw, for if he did the two sets of n1OX%1 on two different ninaw,

one set on one NAW and the second set on the next Naw, he would be 27
two MRV -

— PYNY NYST 199N DINIAY BT

for (as °"w7 himself states) the days in between (the two mnaw) are

considered a sufficient awareness to separate the two 2°naw for two nxvm.
Therefore we must conclude that the aforementioned case took place on one Naw.

Now nmooin concludes his question on "7

— NN NAY 09 INMRY NNINK NIIEP DD 19 Y1V 29 DY X NNDN
So we see that even though he became aware before the second 79°3p
(which he did naw 11712) that this day (on which he did both sets of naxo7)
is naw -

—INVY 18P NAY PTTA NN
because in the second set of N1OX>72, he was 7 22p, with the awareness
that today is naw, (he merely forgot that these MaxXYn are MMOX) -

— RONY 19 $713 XYY 199 TN DY¥N 2PUNY NPT XN KY 191 199X
Nevertheless we do not consider it an awareness, to separate the second
set of MoXY» from the first and obligate him with two additional nxvn, but
rather we consider it one unawareness (or A12), the reason being; since he
was not aware that he transgressed —

- “NAmn NaxYRAY NP S9NV

¥ The reason '01n needs to prove that the two sets of N12x91 took place on the same naw is twofold: 1) for if
it took place on two separate 0°naw, then the difficulty would be a general one and not on ¥, for since it
is on two o°naw then all agree that the o°naw o> are P2rn, so why is he 21 only one nXvn, and 2) It is
central to '01n disagreement with >"wA, that where there was a 77 of naw only and no 2°nraw o,
according to (Mmoo understanding of) *"wA it would still be a p?n% nv*7, but not according to '01n. This
disagreement is brought out clearly when the two sets of N1oX2n were done on the same naw. See a"2n.

’ Even if he would have remembered that previously on this naw he was jmw) gp, it would not be
considered a 11y, since now he is under the impression that they are 0.
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because at this point, when he did the second set of n1ox>», he was of the
opinion that these n1>8%» are permitted.

The reason why merely being aware that it was naw is not a sufficient pon> ny>7 is:
— NOUN NPT 1Y H19W INNVN PIHN Y11 IN 102’3‘\9‘1 own
because the 770 writes: “(if) His sin became known to him”; that he

must have an awareness of sin in order to be 211 a 1277 and therefore to separate it
from subsequent 02117, but an awareness that it was naw without awareness of sin is
insufficient.

In summation: MooIN disagrees with *"wA that the fact that he became aware that it was
naw, that is sufficient reason to divide the 21’17, because we see in the case of N3 77°¥p
7%, that there was an awareness that it was naw and nevertheless the two sets of NOX?7
are not separated but are combined for only one nXvr 21°1.

mooIN continues to question s""¥ interpretation —
— napn 79 199991 X9)2T 59791 93 PRY? 1339 DUPH T
And furthermore asks the 2''2%9; in the X923 we derive this 77 of Y71
naw naw %3 Hy 21 191 naw TPy, from apios -
— NP 19 NNIY I Y1 NDY TWAN INY DIVIPN W97 IN)
and if we assume s''"'w interpretation that it is impossible that he did
not become aware that n2¥ passed, and that this awareness is sufficient

Pon%, why is it necessary to have a 2192 to teach us that in this case you are 211 a
1277 for every n2w, it should be considered a regular case of >°n12 7¥°7°, which is always
pomn. The fact that we need a P09 teaches us that normally this is not a P27 77> but
(only) here by naw the 770 decrees that it is a pon% 7v>7.

Another question on s""¥" premise:
— (%10 97 MN12) 19 YIIN P92 )INT PN 135399 YD NI
The >'"9 asks furthermore: We learnt in a 573w in ¥ 12K P75 -
— TWHN 229 NN INYNY NIPY %29 NN
v'"1 said, I asked X''9, what is the 77 if -
— 995 NANYN YN NA9N MNAYA N2 MIANDN NYIYH
One does many NMa8%» on many 2°n2w, of a similar type of 712852 etc.

015 7 x99,
' See the X3 on 2,10, that we derive it from either one of two 0°p109: either from NAWn NX HRW? °12 1AW
,(T0,X% [Xwn] Maw) or from (3,07 (2W172] RIP*Y) 1MWN >NINAY NI .
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— 5919 7731 MIN Y NNNY HNX Y3 Y 2991 1Y 9N
X'"7 said to ¥ he is 2%°17 a 1277 on each one; we can derive this ruling by a
"= from 7771 M9 ete'l.
— NOYNY 9102 92N 1939 232 997 N2 NN 0NN 2D
And there in Mn>1> 'on there is an argument among the 2°8712X in what
particular case did ¥"- ask his question from x", and at the conclusion™
of the X°x10 the X ) asks -
— 1939 NY2T NIN MINDIND PID NAY NMY 9INT NTON 299
And according to the interpretation of X701 29 who maintains that s'v"9
question was concerning the case of N1aX% 3711 N2W N33 his question was -
— NDIN PHND NPT 199N DNIAY DN ON
Are the days in between the 2°n2w a sufficient awareness to separate the
2°n2w or not? If that was the question how did X" respond that we can derive it from
anmmnI'p -
— NI'N D)2V 0 9N A1
how is there the concept of ‘days in between’ by a 7171, seemingly once a
woman is a 1173, she continues to be a 7771 all the ensuing days, not like n2w where after
naw there are no more 2°NO°X until the next N2w, but by a 7771 the same MO°X continues.
Seemingly we cannot derive n2w from 771
— YD N2 TN NNNTY NHAVY DYDY NAY YN
And the X713 answers that we can find by 7171 a case of 2°n1°aw a°»°; when
he was %312 a 22wa 773, and then she was %21 in a Mpn, and was no more a
771, subsequently she saw 07 and again became a 1773, and he was ®¥12 her a
second time. The days between the 7771 "»° are the ©°n»aw o°n> that are Porn and

therefore he is 21 for each 79°v3, even though he was not aware between the m>°¥2 that
he transgressed.

moon will now conclude his question on *"¥7, who maintains that in order to be 211 for
every Naw it is (only) required that he be aware that a naw passed. Similarly by a 773
which we are comparing to n2w, in order for him to be 211 for each nX"2, it should be
necessary for him to know that she was a 14.‘:11, and that would be sufficient to be 2>nn
him for every 7X°2. mMd0IN question is that Two1 7nn, if he was aware that she was a 771,

'2 X" maintains that if one was %12 a 771 many times Nnx 0¥ he is 270 for each axa. We derive naw
from 7173 NX°2 through a 1"p. The reason that naw is considered more M than 7771, is because on Naw there
are many different types of max%» for which to be 2»n, as opposed to 771

B3 X, mnmo.

'* Even though he is not aware that he committed a Mo°X NX*2.
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why is it necessary for her to be '*521, as long as he was aware'® that she must have been
a 1173, that is a sufficient P12 7v>7° according to >"wn. If he was not aware that she was a
773, (which is the most logical assumption), then how does it help that she was %2
between the m>va, if he was not aware that she was a 7373, there is no p>n? "y,
Therefore we must say not like "7, but rather that the 0°n1°2w o°»° have nothing to do
with him realizing there was a (potential) M0°X situation, i.e. N2W or 7171, but rather the >
an°n themselves (either the 917 °»° or her 777w »°) are sufficient cause to be p?nn for
many NIXUM.
— 4NN BY¥N Y51 2PUN NTIV KDY DMV NN NINN IPIN DN

And there even if she tarried many years and was not %21 between one
1% and the subsequent ones, he is 211 only one nXvn, because they are all
considered one 2%y if she was not 521 during this time, because since he was not
aware that she was a 1171 and there were no 2>n2°2 207 *»’ it is one D%Y: -

— 7 YTV 35 Y1 NIV 29 Y X DINIAY 9091 M3 NYAVYWI NN
It is only when she was 21 between the nx°a that we say that he is 2> for
each 1X°1, because we consider that her permissible days that were in
between the N>, when she was 9210 and was not a 7771 even though he
was not aware, that she was a ''n71 (and for sure he was not aware the he
was 912 a 7171), are considered as if he was aware, and therefore he is 2711 a
nXun for each X2,

We derive from this X713 that the reason why the 0»n1aw o°»° are a p%n> 737 has nothing
to do with his awarenesslg, but rather that since there is a period where there can be no
T0°%, as in the time when she was not a 7371, that itself is considered a pon> 7w 7.
Therefore - concludes n1voIN:

— PHND NPT 199N DYNAY NN 19 YRV ROV 29 DY 4N NAY %3) 1) NIN
here too by n2w even though he did not hear and was not aware neither

that he transgressed, nor that there was even a Naw in between, nevertheless

15 Some o1wX1 maintain that he is for sure aware that she was a 77, only when she is 721, for he assumes
that she is being n71% 9210. Others reject this view, maintaining that being aware of her 717°21 does not lead
to any assumption of N3, since she could be 221 for many other reasons. See ‘Thinking it over’ # 3.

'j.e. he was aware after the first 7x*2 that she was previously a 7173, but not that he was 7°9v X2, and then he
subsequently forgot that she was a 7771 and he was 7°7v X2 a second time, etc.

' This is in opposition to *"&", who requires that in order that the 2°nraw o be a pon> 7¥°7 it is necessary
that one be aware that a naw, which is a day of 79891 MR, has occurred. It would follow then that by a 771
in order for the 0°n"aw o to be a P 7y it would require him to know that she was a 1171 - a time of
MoK - just like by naw. However by a 1171 how can we say that he must have been aware that she was a 7717
And if one would argue that somehow he must have been aware that she was a 7771, then why do we require
that she has to be 221, even without the 77°2v there was a pn 7v>7° according to >"wA. See R"wann ,0"n.
'8 Because then he should be 21 even if she was not 21.
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the permissible days in between, i.e. the weekdays, are a sufficient aw>7s
Pony -

— DAY Y3Y NIV RNNY NIN 2NN NINT
for this is the 210277 n991a as the XA teaches us later that there is a 7w

for each naw, regardless of whether one is aware that he did maX>n on nNaw, or even if
a Naw passed, since he is N2W “p°y ¥, he is 211 a nXYN for each nNaw that he desecrated.

mooin asks:

— 2505 XY N732) NP 29N NAYA NATTINY N7 NAY NYIIN 229 929> ONNT NI
It is perplexing however, that there' =1p"»x '2 derives the 17 of nw
concerning D°n1°aw 0> that they are a P77 7v°7 from the "7 of 7173, as he
says that we learn out naw from 771 by means of a 1"'p; but the contrary
seems to be true since by naw there is a 7102 that we are 211 for each naw

individually, however concerning ;771 we do not have a Y2 concerning o
o°nraw that they should be considered a p%n% 137, The question is why did X" answer
¥"1 that he is nawy naw oK 21 because we derive it from 7173, on the contrary, he should
have said that on n2w we are 2°°11 because there is a P09, and somehow we will derive 7772
from naw, but not the reverse.

N1B0IN answers:
DNAT PYNRY 5393 TRYIIN 395 13950 RN NIP |9 NPT RNT PNYY 13539 AN

And the "1 proposes that our 87»3 which derives that you are 92X 2n
naw1 naw from a 2102 follows the opinion of W' 92 R''1 there in mn>> -

— DTN DY RAN NIN ITYIHN 1299 NIIPY 229 IRV 75 ND 9INY
who maintains; this is not what ¥''9 asked of X''9 concerning naw rather
he asked concerning one who was 777377 ¥ N2 many times, what is his status
concerning bringing nXvn N3P

— NAYN N D HNNXY HNNX T3 DY 39NT YN 291D 2PUN)
and X'"9 responded that he is 251 a nXvn for each %2, and we derive this
ruling by 771 by means of a Y"'? from naw, that if (even) by naw you are 21 a
nxun for each naw (which we derive from a P09, as the X 3 teaches us later), then

certain1y20 by a 7171 you are 211 for each 1X°2. However the X773 in N> that maintains
the ¥"9 asked &"9 concerning N2w and he answered him from 7173, disagrees with our X723,

19 x,10 mn™>
20 "3 X" maintains that 773 is more 0 than naw, because by a 1773, both the man and the woman are
211, as opposed to N2w, where only one person is 2°11.
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that there is a 05 for Naw, but rather we derive 2w from o,

SUMMARY

If one did many maX%» on many mnaw without being aware that he was 22w
he 1is nevertheless 2™n1 for each naw. °"w7 (according to MBOIN
understanding) maintains that he is 211, because there was some sort of 7¥°7
0°n1°3, since he must have been aware that there was a naw. However, N501n
maintains that the reason why he is 211 for every naw is because it is a N7
2057, that the on1a an°a 7, accomplish that they are *mxvn> P1vm. 'on
rejects s""w premise that the awareness that it was naw is a sufficient 77
Pon? without Run Ny, from three N0 in the XA

1. The case of 77°Xp N7 77°Xp, even though by the second 77°%p, which
was done naw N712, he was already aware that this day is n2w, nevertheless it
is not considered a pon? 7v°7> and he is 211 only one nXwr.

2. Why would we need a 0o to tell us that naw 9o% 2»n, if it is indeed a
P nyeT?

3. Why by 171 to we consider the 0°n1°2w o°»° to be ponn, since there was no
Q°N1°2 7y,

mMoon concludes by saying that it seems that not everyone agrees that there
is a 21057 n7°1x by naw that Pon v 7 10 0°N2W 0°1°, but rather that some
2°X1n derive the Nawy naw 95X 21°1 from a 7737 1"p.

THINKING IT OVER
1. If we were to assume that >"w7 maintains his premise only if more than
one N2V passed, could we then refute some of '01n difficulties on >"w1?

2. According to '0n that the 2n°7 °»° are a reason P77, why by ¥ now:

*! We may say that by 771 the X3 assumed that he is 2°n for each 7X°2, based on the m2%an 7"5> o"ann
"MT1 2°W1 '22 37 O DPAWT DITI YATA YN AT Mmoo R by RIw 9"YR 131 A3 770 Dy XA ;0" D
5"y, See 2717 WY

2 One may say that *"w1 and '0)n are basing their respective opinions on the phrase used in nn™>3 'on,
which states "p?n% 73> 117 002w 01", According to 2w, perhaps, the stress is on the word "73°7", that
because there are days in between, one has a certain 7¥°7> of the 710°X, in this case a 7¥*7 of naw. 'on, on
the other hand, perhaps stresses the words "o°n1aw o°»*", that since there are 0°n12 77 "1, when the MoX
could not have been committed, therefore we cannot combine them, and they remain separate 0°21m,
somewhat akin to 0> 001, See the various 211X,
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naw is he not Nawy naw 9ox 1°n2%

3. How can footnote # 15 refute '01n last question on >"21?

¥ See (mam A"72) X"ow.
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